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Etvou

f'(x)|= InX+)(/%+acvv(lnx)—a)(nu(lnx)%+Bnp(lnx)+[3)(cvv(lnx)%

=Inx+1+acvv(Inx)—omp(Inx)+pnp(Inx ) +povv(Inx) =

=[Inx+1+(a+B)ovv(Inx)+(B—o)nu(Inx)

Kot

f”(X) _ 1 (a+[3)np(lnx)+(B—a)cvv(lnx) B

X X X

1-(a+p)nu(Inx)+(B—a)ovv(Inx)

Onote

X" (x) = xf'(x)+2f (x)|=

W 1-(a+B)nu(Inx)+(B—a)ovv(Inx)

X

—X[In X+1+(a+B)cmv(lnx)+(B—a)nu(ln x)]+

+2[X In x +0Lxc'uv(ln x)+anu(lnx)] =
X —(0+B)xnu(Inx)+(B—a)xoov(Inx)— xhrx — X —(a.+B)xovv(Inx)—
~(B—a)xnu(Inx)+ ZxInx +2axcvv(Inx )+ 2pxnu (Inx) =

Xnu(lnx)[—x{—ﬂ—ﬁ/+x{+%}+va(lnx)[ﬂ—ﬂ—/{—ﬂ+%]+xInX=



